Mgl o3 adlaie ,3 o] Alsbuws

s daw i 93 oS, A dxo> 233123
s L 2V 2V o)1 -3 3
o peo e (Balit) L. YU ol ) Ly ol
e e > (B e ol Jlorduw ) O P ol s oodla (il >
429> YA 42,95 AD 438> A 438> 428> A0 -
(29 9 S259) (ls>9) (S>55) (ls>9) (Uls>9)
(b8 loilige) (3 6] ¥
(Sl oligS) 5k 290 iy
=
595 93 5 )lee sl «sjmly sl 2
(obgS” (oleibign) _ _ 9% -
(ebsS” plodlisy) Ok j b e sl b Voa] S Sk
N o >
(biols os5) p> b sl Tt S GO D O ) s (Ais J 25 o
" s s 4a,8> 4 43,85 A+ 43,85 0
: SLLs LS s 4a,8> qY
Sl ratds O O (539) (535 (Ss5) o
(s oS (0ls>5)

(Sl ol pod adls lale

(s 865) o e
(Sluols oligS) ,Lolg




